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The Amby u u c.se;
QoAU TTONS=> 4.3 of Phre98ee T2 = (workBook)

R e R

|. Determine whether each dESCrlp‘rl.Gn of a
*hangke involves +he SSA situation.

a) In AABC,<A=13°% a=2cm, and b=Gem.

This I's a SSA S1tuahon.

b) ITn ADEF, <D=89° d=INcm,and £=1/ cm
’ <A=89° ’ a=14cm,’ and b=11cm

“This r's a SSA situotion.

¢) In A DG!.R o 5‘8 = Q7] cm, and r=19cm.

“Tris is not a SSA
situqtion.

( SAS)
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3. (alculate the height of each +riang e,
+6 4he neares+ ™nth of o centinveter
Determine The number of *ragﬁq =5
+hat are possible. Give NJouUr reasons.

Y T - = |
a) In A RST ;- R 103 | cm, and s =9cm.
103 1§cm ’and g 9cm
® TRis is a C'\S"-\ \3\+L‘L0.1!Oﬁ CMQ‘LQNH“ Qi v
@ We can sXip & Since <A is obtuse

+his step and @ > b, one
Since <A 1s obtuse. obtuse +r\o.ncj¢€: 1S
possible -
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b) In A XYZ, <« X=50°, x=38.2em and z="Tlcm.
> <A=50°," a=5.2cm, ‘and b=7.1cm

® ThRis isa SSA situation. (Matchr ‘ng Fair).

@ h=bsinA @ Since <A is acute
and @ <h, no +r1@nole
N= "7, | SInS0° 1S D0551b€
h=8.4cm
D Inh A ABC, <A="T4S Q:,Q,%.Cf.'im?filﬁd b=28.9cm

P - " . . § \ . .
L "Thisisa SSA 5\+u&+10ﬁ-<Ma+Cﬁ!ﬁQ Polr,}.

@ h=bsin A ® Since <A s acute
=289 sinTy° and h<a<b, two
N= 27.8cm —L‘HGDQ €S me_ possible.
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Y, Given each set+ of measurements
-For A ABC, determine The number of
Trran \ES +*\Cﬁ“ are possible. Draw Q
dicagradm +o support your answer.

\_/ A,
a) <A=110% a= 4.7cm,and b=3&.1cm.

® Tars is o SSA asfmcﬁrfom-[Hfoﬁ‘chihq Faic).

@ We can sKkip S Since <A is obtuse
+his Sstep Since and a<b,no triangle
<A 1's obtuse. 'S PGSﬁ{bKE.

— - o C
Liagram o - A=4."Tcm
b=5lem\ \
\,_\\
\110*

A B
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b:‘ ‘4:‘\:’5@; Q=6*5Crﬁ.} and b= g8.2.cm.

s 's a SSA sSituation. (Ma"f‘ch\'ﬁq Fair)

“i’\-‘; b,S{n,A\ Ch Slﬁ(‘_ﬁ 4-.-‘&‘ 'I.S CLC.\_I e
1’1-; B.2. 8'nBHO° and Q= h one tight
Iy Sp
}t—. .3 cm ncmq e \S DQSSE
' C
ll\)".l._iq‘;t__l T o \\‘_\\
o=6.3em ' b= 8.2.cm
al
B : A
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5. In AXNZ 24X=675 x=3.2m,and y=3.4m
<A=67°) a=3.2m. and ‘E=3.im

a) Determine o PQB-S{‘D\E:. measure for “-Yj O
i
The nearest deﬂte.e.

sinB. = sinA
b a
sSinB. = SineT°
3.4 3.2,
3.23nB =34 s8ing7°
32 3.0
SinB= 0.9180
B= <in™ (0.97180)
B= 1§°
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b) State another possible value for <B. Give
one reason wWhy thisrs a possible value.

SinB=sin(180°>-B)
sin B = Sin (1%O°~"I%°J
SinB = S'n 102°

‘Since <A L2 ch-\ﬂ} <B Could also be obtuse.
Q02)

C) Which of these possible values o <B
Correspands to o possible Jr*rfcm\q'ae.?

Explain -
h= bsinA Since <A s acute

and h<ac< bJ .o ‘%T\'OUE’lES
h= 34sin67° are possible.
h= 34(09205) Therefore both values
h=3.1 m

for <Bcorcespondto
possible -H*(Qr\rake.s :
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'“-m:rf%z CHOTICE,

—_ O

. b=4.5cm <A—350

6. LﬁﬁﬂuND)ﬁ*“fﬁﬁﬁaﬁd<ﬂ%=35.
What i the \Elfﬁ‘OF'HWQ4TWGHQH1§ﬁHﬁ

EX5E'%§
h=b sinA Option =
h=4.9SIin35°

h=45(0.5136)
h= 2.6 cm
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1. IHAPQR < P=108° Q= qr‘ﬁ and p=4.5m.
’ <A=108°, b=4.9m,’ and a=4.5m

Which statement is +rue ?c:ar +his Set of
Measurements ?

Since <A s obtuse and a< b nNo HG!’“\Q"C‘
's pc::%%\b‘e

1 S—

Option=> "R This is an SSA situaton,
| NoO Jrr-fcmﬁ_cj\e 'S possible.



Solutions to 4.3(Extra Practice).notebook October 30, 2015

3. Which set+ of measurements can produce
Two possible triangles ?

* We need +o check optron "A"and option B

The solufvon Cannct- be option "C" Since
<A IS obtuse.

'1‘A‘|.!
h=bsinA
h=40sinG2°
h= 4.0(0.®329)

Since <A 1's acute

and a<h, nc Jrh‘QnSl.e
'S possible. '

h=35m
"B Since < Aisacute
h=bsinA and h<a<b,two
E: '_I-L{'\SC'{TXSQC’ \ triangles are possible.
= 1.4 (0. 18]0C) "
h=95.8m
Option => n"

10
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U9 I obtuse A ABC <B=J4° b= 18cm,
and a= 22 cm. Calculate Hhe measure
of 4/’-\) +o the nearest deaqree. IS there
more than one possible answer ?
Eaxplain how you Know.

SinA= sinB SIiNn30=Sin(180>-0®)
a b Sin30=sin (180=30")
SinA = Sin o4° SIn30°= grn 130°
o 1 ]
1IBsinA= 22 Sin24° <A could be 30%cr
B 1] 150° Since there
SInA = 0.4977] are 2, possible
A= sin~t(0.4971) +rfanc3] les .
f-‘-k. — 3{:}" - .
h=Dsin A

ls, h=asinB
h= 22 sind4°
h= 22 (0.4067)
h= €9 cm
(h<b=<a 5 2 possible %u‘aﬁg\cs)

11
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<A=97°, a=5.3m, and b=4.8m
0. T ADEF, <D= Ci"z'c’cl S_ﬁcm and e=4.8cm.

FQ\CU\Q":‘E J)r‘r\e mco%ure—* of < -‘ro +he
'ﬁfiD.rES"\‘ decjre:c—:*. T < +there tnoxe Hhan one

possible dnswer ? E?{,pmm how QU Know.

<B
sinB. = sinA Since <A 'S obtuse,
b d and  a>b , One
sinB = Sing7° obtuse triangle
4.5 573 1S possible. ™
53sinB = 48 sinQ7° |
53 53

SinB = 0.8ag9
B= sin'(0.8a89)
B= c«°

12
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